1 Q2a—b—2) X (—2a) (2) (—5x—|—5y+2)><3x

3 (6a—4b+3) X (— 3a) @ (Tx+8y+1) x(—u)

6 —4a(5a +8b—2) 6 —2x(9x — 3y +3)

(M —b(—9a—5b) ®  —ax(dx+ 4y —4)



(9)

(10)

(11)

(12)

(13)

(14)

(15)

(16)

(17)

(18)

(20a®— 35ab + 10a) ~ ( — 5a)

(6xg'+-2¢y)-%-(—-3y)

(25a%+ 30ab) ~ (— 5a)

(3627 — 8xy — 36x) + 4«

(28a®+ 36ab — 24a) ~ (— 4a)

(3ay + 6y2— Ty) + (—y)

(24ab + 36b%+ 16b) ~ ( — 4b)

(12x% — 4xy) + (— 2x)

(30a®— 25ab — 45a) ~ (— 5a)

(10x%>— 5x) ~ 5x



m

(3)

5)

(11)

(13)

(17)

—4a®+ 2ab + da

— 18a’ + 12ab — 9a

—20a* — 32ab + 8a

9ab + 5b*

—4a+Tb—2

—5a—6b

—T7a—9+6

—6a—9b—4

—6a+5b+9

2

(4)

(6)

(8)

(10)

(12)

(14)

(16)

(18)

— 15x* + 15xy + 6x

*Txi*Sxy*x

— 18x% + 6xy — 6x

—4x? — dxy +4x

—2x—8

9x —2y —9

—3x—6y+7

—6x+ 2y

2x —1




